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D sin(a+ f) =sinacos f+cosasin B, sin(a— ) =sina cos f—cosasin S ;

@ cos(ax + B)=cosacos f—sinasin B, cos(a — B) =cosacos B +sinasin 3 ;

tan o + tan tan o — tan
@ tan(a + f) = p , tan(a — f) = 'B.
| — tan & tan [ 1+ tan o tan S
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2. MBI AN: asinx+bcosx=+a® +b*sin(x+¢), HH cosp= , sing= :
Ja? + b2 Ja? + B>
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O_f&F M sin2a =2sinacosa , cos2a=cos”a—sin“a=2cos"a—1=1-2sin"a, tan2qa =
. . l—cos2a 1+ cos2a . 1 .
QR AT sin’ o = 5 , cos’q = : : smacosa=55m2a.
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tan @ =

2tan o

l—tan’a

@FFRAN: 1+cos2a=2cos’a, 1—cos2a =2sin"a, lEsin2a=(sina+tcosa)’, 1=sin’a+cos’ .
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sin(£+a)=—:>sin—cosa+cos—sina=—(cosaf+sinaf)=—:>cosaf+sinaf= )
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FIT LA (cos @ + sina)® = cos” & + sin a+2008asma:1+sm2a:§; ﬁﬁlst(z:—;.
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[ 2] (2022 « FrEE 114 %‘sin(a+ﬁ)+cos(a+ﬁ)=2\Ecos(a+§)sinﬁ, mC o)

(A) tan(a+ p)=1 (B) tan(a+ f)=-1 (C) tan(a—pf) =1 (D) tan(a— f)=-1
fRE 1
' V2 V2

A=, (sinacos B+ cosasin )+ (cosacos —sinasin ) = 2\/5(700805 — TSinaf)sin,B,

IS (sinacos S—cosasin )+ (cosacos B+sinasin 8) =0,

Fir LA sin(a — B) +cos(ar— B) =0, il tan(ar — B) = z;r;(éi?) =—1.
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sin(a + f#) + cos(ax + ) = J2 sin(a + b+ %) , IRABTEFEANLTE: sin(a+ L+ %) =2cos(a + %) sin . @,

sin(a + S+ g) — sin[(c + %) + B]=sin(a + %)cos £+ cos(a + %)sin i
P LAARA @A 15 sin(a + %) cos 3 + cos(a + %) sin 3 =2 cos(a + %)sin B
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it LA sin 2a = sin(x + y) =sinxcos y +cosxsiny D,
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[ 2] Ca, B¥HNEBM, (1-Btana)l-BtanB)=4, Ma+L=C )
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R - L (l—\/gtana)(l—\/gtanﬁ) =1—-J§(tana+tan,8)+3tanatan,b’ =4,




FITLA —(tan & + tan B) = 3(1 — tancr tan B) » MM L+ =—3, #tan(a+ B) =3

| —tan & tan 3

Ya, BEEBH, Fibla+Be(0,7), Mzmﬁ:%’".

EHZX: B

RA: HFA=HAREKIE
(%3] cosl5°cos45® —cos75°sin45° =

A
: : : 1
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[455 2] tan25° + tan35° ++/3 tan 25° tan 35° =
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tan 25° + tan 35°
1 —tan 25° tan 35°

AN tan 60° = tan(25° +35°) = =3, FTLLtan25° +tan35° = J3 —/3tan25° tan 35°,

M tan 25° + tan 35° + \/gtan 25° tan35° = \/§
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AT : _ f(x)= \/12 +(—/3) sin(x + @) = 2sin(x + @) » FTLL f(x),. =2.
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BRAR: S A A 2 SR AT = £(x)= 1> +(=/3)* sin(x + ) = 2sin(x + @) ,

j‘j’?tang&':—\/gﬂgpe(—%,%)s Fﬁugo:—g,

M £(x) = 2sin(x — %) ,
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[ 2] 40 f(x)=sinx+2csosx(OSxS§), N £ () ffE IS

BRAT: BB, f(x) =12+ 22 sin(x + @) = /5sin(x + 0) ,
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9 . (2022 « VL 75 & JH B 4L « S Kk k) & H azg(cosl'“—sinl“) , b=
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10. (ekok) WHx=01, BKREL f(x)=sinx—2cosx P55 K1E, N cosd =




